3 FHi AT et K dEk - XAk S5y - FHIST sk S o> 28338 (20 1) (HA{7 ha) — & B fw —
m o MEFf404E7 H 7 H W45 411 A 30 A MEFn48 412 H 28 H MEfn 5247 H 13 A WEf54 43 A 5H IEFn 5948 H 16 H
hi A =1 Y H =]
X i MBS 175 5 | it 20 5 | ORI BSO08E s oigg g | CIPLUNEMO T o 1480 5
5 3805 & I %5 547 =

AT Rk 7, 733 10, 283 10, 283 10, 283 10, 283 10, 283
bR 833 833 917 982
TR X 9, 450 9, 450 9, 366 9, 301
%1 EEEEA 135 130 139 110

(R %) (16. 2) (15. 6) (15. 1) (11. 2)
%2 T EHEA 5 12 38

(R %) (0. 6) (1. 3) (3. 9)

5 S otk 450 450 456 481

(R %) (54. 0) (54. 0) (49. 7) (48. 9)
TR SEHUIER 6. 5 6. 5 6. 5 6. 2

(R %) (0. 8) (0. 8) (0. 7) (0. 6)

REE Sk 5. 3 5. 3 5. 3 5. 5

(R %) (0. 6) (0. 6) (0. 6) (0. 6)
ﬁi%mﬁ 23 23 23 25
(&Rt %) (2. 8) (2. 8) (2. 5) (2. 5)
(R T3EHX) ‘ ‘ : )
I%ﬂﬁ 24 24 24 59

(R %) (2. 9) (2. 9) (2. 6) (6)
(R T3EHIX) }

T35 H A i 190 190 252 258

(R %) (22. 7) (22. 7) (27. 5) (26. 3)
FHE e 833. 8 833. 8 917. 8 982. 7




T E I sk - R Sy - S ISR AR Isk A oD 2SI (20 2) (A ha) - R W -
m o= Rk 343 H 28 H Rk 3412 H 28 H Rk 64510 H 18 H WRE 742 H 20 A ERk 10412 A 18 H
e E SRS 1567 & JeHEE SRS 2156 &
m e b =] Y e =] — =]

X i AbiEE SR 451 & AbiEE SR 1489 & N5 69 - HEITERE 10 & M5 83 &
R 2 K 10, 283 10, 283 10, 283 10, 283 10, 283
LXKk 980 980 1, 001 1, 001 1, 062
T IR X 9, 303 9, 303 9, 282 9, 282 9, 221
e \ 55 1 AR R R A e 106 107
%1%$fgﬁ 115 115 115 (HERREE%) (10. 6) (10. 1)
(HERRLE9%) (11. 7) — (11. 5) 5 2 AR (3 E ) e 2.1 2. 1

(k%) (0. 2) (0. 2)

- ; 55 1 P = L Mk 40 89
%Z%Efg% 36 36 36 (RS EE%) (4. 0) (8. 4)
(HEREE%) (3. 7) - (3. 6) 55 2 o P Mg 52 53

(HERK %) (5. 2) (5. 0)
551 Ak 285 293
X i (R %) (28. 5) (27. 6)
I
R, 476 47z 47z 5 2 FE(E E sk 117 118
.o (Rt % (11. 7) (11. 1)
(R %) (48. 6) (48. 1) (47. 2) T b 50 50
(HERK %) (2. 0) (1. 9)
TP 2 Hi 5. 6 5. 7 5. 7 7.1 7.1
(&R %) (0. 6) (0. 6) (0. 6) (0. 7) (0. 7)
P it 5. 5 5. 5 5. 5 5. 5 5. 5
(R %) (0. 6) — (0. 5) (0. 5) (0. 5)
YET e 24 2 35 35 5
(R %) (2. 4) (2. 9) (3. 5) (3. 5) (3 2)

(HrR TEEHX) — (4. 3) (11. 7) (11. 7) :

T2 Mt 61 61 74 74 g
(HEREE%) (6. 2) - (7. 4) (7. 4) (77 0

(I T 2R X) (37. 4) — (37. 4) (37. 4) ’

T EEE P Hire 257 257 257 257 254
(R %) (26. 2) — (25. 7) (25. 7) (23.9)
ot 980. 2 1,000.2 1,000.7 1,061.7
FHE e 980. 1 (100) (100) (100) (100)




3 AR T s X1k - XIER[X 55 - FHEasHBIskSE oo 285558 (20 3) (4457 ha) — & B W —
P TRk 14 411 A 12 H Rk 154-3 H 28 H Rk 26 4-3 H 28 H SF343 723 H
AMEEL R 1798 5 | ALMHESRE 499 & HEHE L RE 236 & AL R 230 &
S HRT R 97 & FENT 5 R 38 5 NS R 17 5 N5 RE 18 5
H TR Xk 10, 297 10, 297 10, 300 (1) 9, 858
T X3 1, 080 1, 090 1, 093 %@ 1, 094
T LR Xk 9, 217 9, 207 9, 207 8, 764
51 FEAK)E L M 107 107 107 107
(KRl %) (9. 9) (9. 8) (9. 8) (9. 8)
% 2 FRAK 1 ek 2. 1 2.1 2.1 2.1
(HE Rk %) (0. 2) (0. 2) (0. 2) (0. 2)
551 FEH R R A R 89 89 89 89
(K Rk %) (8. 3) (8. 2) (8. 1) (8. 1)
55 2 Fl i i itk 53 56 56 56
(HERk %) (4. 9) (5. 1) (5. 1) (5. 1)
51 R g 293 297 297 297
(HERK %) (27. 1) (27. 3) (27. 2) (27. 2)
5 2 TS hdag 118 121 121 121
(HE R EE % (10.9 (11. 1) (11. 1) (11. 1)
HECEJE i 20 20 20 20
(HE Rk %) (1. 9) (1. 8) (1. 8) (1. 8)
AP 3 R 7.1 7.1 7.1 7.1
(HERR %) (0. 7) (0. 7) (0. 7) (0. 7)
GHE Siihin 5. 5 5. 5 5. 5 5. 5
(HERK %) (0. 5) (0. 5) (0. 5) (0. 5)
YET i 38 38 38 38
(H Rk %) (3. 5) (3. 5) (3. 5) (3. 5)
(4RI T2 HX) (14. 3) (14. 3) (14. 3) (14. 3)
T3 93 93 96 96
(HE Rk %) (8. 6) (8. 5) (8. 8) (8. 8)
(4RI T2EHX) (37. 0) (37. 0) (37. 0) (37. 0)
T ZEE ] ik 254 254 254 254
(HE Rk %) (23. 5) (23. 3) (23. 2) (23. 2)
. - 1,079.7 1,089.7 1,092.7 @) 1,092. 7
il - (100) (100) (100) (100)
(1) EFFER RIZX 2m <(2) ?I“jib A EXIR D EFET% 1 ha A Cdb D AN BB FTEC L U Tha DI
) Rk H AT BEAR A A Eei b D P OB B £ 0 O A AN 2 7. RO AST612 J 0 MM LTS L,




